versioneO

Equazioni differenziali — 0

DSol ve[{y'"' [x]+2y' [X] ==12x +e?*, y[0] =0, y' [0] = 5},
yIx1, x]

{{yix] »e?*(-4+4e®*-3x-3x%)}}

Funzioni di due variabili, punticritici— 0

8
fIx,, y_li=y-—;
X

glry_1:=f [; y|:

6
Print ["gl(y):f (7, y)="];

Print [gl[y]1];

Print ["g2(x)=f (x, 8-2x)="1;
g2[x_1:=f[x, 8-2x]; Print [g2[Xx]];
Print ["g2' (X)="]

Print [g2' [X]]

Sol ve[g2' [X] =0, X];

Print [{92[1], 92[2], 92[6]}]

6
gl(y)=f (—,y)=
y
y
3

aa=Plot[{6/X, 8-2x}, {X, .3, 7},
Aspect Rati o » Aut omatic];
figuraf[l, -.5, 7.2, -.3, 7.3, aa]

\

Integrale doppio — 0
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1
k

k
4

fIX_, ¥y 1:=x=*yS

Si npl i fy[{f-%f
4-3
Jjj; f[x, y]dx dly}]

y5 2176
{—18y+8y3—2y4+f, 7}
8 15

[X, y] dx,

<|o

8-2x

Si rrplify[{je f[x, ylay,

X

8-2 X
Jjjz fIx, y]dy dlx}]

81
{4 [(—4+x)4—— X

x4

2176
5 )

Numeri complessi — 0
Sinmplify[(-4-224)/ ((1-21))]
8-61

Solve[(1-241) 2% = -4-2214, Z]
{{z->-3+1}, {z->3-1}}
Matrici, autovalori —0

a= (i Z) Print [Matri xForm[a]];

vV = (i) Print [Matri xForm[a.v]]

|

2+k )

44+2Kk

b - 2+k 2
(4+2k 1

-6-3k

); Det [b]

k = -2; Ei genval ues[a]
{5, 0}
Ei genvectors[a]

{{711 2}1 {21 1}}



